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Note : Before answering the questions, read carefully the instructions given on the OMR sheet.
ardd: (e amaen Frahed dwod OMR xarw HEs0S® BgadH Arsten er|ddne H6Hod.

SECTION - I (MATHEMATICS)

1 peg=
W) (p=qjvlg=p) - @ (9= p)NP=19)-
@ pvag @) pAg

2 [x/x€AAB}=
(1) {x/x€A-B} @), {x/x€B—4)
3) {x/xe AUB, xe An B} (4) None (& s°¢)

3 If .f{ﬁf}zxﬁ = xlﬁ then «/-2_=

f(x)=x2 % R

M f{V3+1) 2), f(%) @ f(V3-1) @ f(ﬁz;l)

4 If n(4)=5, n(B)=2 then the number of mappings from 4 to B is

n(A)= 5, H(B)=2 wowd 4 08 B 8 fe ol dopg

(1), 25 ) 10 3) 32 (4) None (96 s
5  Aroot of the polynomial x20!] 4—(—])2012 is

JCZ(.'HI

P12 e it a8 suros

+(-1
ON ) 0 3y -1 (4) None b s%)
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1.1
6 If @, are the roots of x2 —3x—1=0 then ;+E=
| |
a,Ben x* —3x—1=0 & swosegss® _+5=

1 3 ©) % 3) -3 @ -3

7 A non-convex region among the following is
&3 (80D oS Logrsed FBdw 50 OB ?

¥ Y4
1) % @) %_, 3) . (4) % .
= X R = X
d P
s 2011—x

2011 2012 2012
) ) )

(1) 2012(2011 @ -2011(2011)*°" 3) —2012(2011)*"" (4) 2012(2011

L =]

1 1
B B
1 1 1 1
W 3F5R @) 32l ® 37+2455 @ 3B
10 a-38, a—pB, a+ B, a+ 30 are four numbers forming
(1) AnA.P. with common ratio 23 (2) A GP. with common difference 25

(3)! AnA.P. with common difference 23 (4) A G.P. with common ratio 2
a—30, a—f, a+f, a+38 v e dopgen B drdFon ?

(1) 28 Fede ™ Ko wos@Es 2) 28 srodssn ko MmEs
(3) 28 dcrossdn ko wodES (4) 20 Ferde BT Ko e @F
1 —15 —47 .
11  The series B2’ \/3+3-J2_ > J§+S\5 »-- forms an A.P. The common difference is
1 —-15 —47
a8 VoSEAS® D HeSHe B+ B3’ Brs” ©owd, Jorossan Jos ?
a) 42 Q) 22 3y —-922 (4) None (26 s%)
sin x T -
12 f(x)—m; = f(x)+f[5—X]—
1 3 1
() 1 ) 3 3 5 4) B
13 sinf=K = : =
; 1
sin 6‘[1—~—§-—]
1—cos“ @
. . ¥ R SO 4) None (b sc0)
M % @ 5 3) (K+1)(K-1) ( n
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sin?32°+sin 58° =
(1) sin®58°+cos? 42°
(3) cos”58°+cos?32°
sec? 27°—cot? 63° =

@ 3 @ 0
cosec?42° — tan? 48° —
L) =l 2 3

sin? 33° —sec? 47° =

(1) cos? 57° — cosec243°
(3) sin®57°—sec243°
tan® 52° 4 sin2 9° =

(1) sec?52°+cos?9°—2
(3) sec?52°—cos?9°
cosec? 10°—sin2 40° =
(1) tan?10°+sec? 40°
(3)  tan?10°—sec? 40°

A
sin— =
2

)] cos? 50° + cos? 40°
(3) sin?40°+ tan? 50°

w
COS—=
2

(1) cos40°+sin? 40°
(3) cos? 40°—sin? 50°

(x+1° +(p+2) =25 =

(1) x=25cosf—1, y=25sinf—2
(3) x=5cos0—1, y=5sinf—2
(x=3)(y—4)=49 =

(1) x=3cosf+7, y=4sect+7
(3) x=3cosf—7, y=4secf—7
(x+1)(y+3)=25 >

(1) x=sinf+35, y=cosecf+5
(3) x=sinf—5, y=cosecd—35
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@) cos? 58° +sin? 32°
(4) None @& s&v)

(33 1 (4) None (8 )

3) 1 : (4) None Q& s%)

) cosec?43° —sin?57°
(4) None (& s)

) sec? 52°—cos? 9°+1
(4) None (25 svc5)

) cot®10°+ cos® 40°
(4) None (8 s°%)

@ cos? 40°—sinZ 50°
(4) None (& s¢)

(2) cos? 40°—cos? 50°
(4) None Qb soeh)

(2) x=5cosf+1, y=5sinf+2
(4) None b suth)

(2) x=7cosf+3, y="Tsecl+4
(4) x=7Tcosf—3, y="Tsecf—4

(2) x=5sinf—1, y=>5cosecf—3
(4) x=>5sin@+1, y=>5cosecf+3
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(x—22~(y-3 =16 =
(1) x=2secf+4, y=2tanf+4 (2) x=4secf+2, y=4tanf+3
(3) x=2secf—4, y=2tanf—4 (4) x=4secf—2, y=4tanb-3
14+sin0+sin? 0 +sin’ 6+ ... +.. co=
(1) sec?+secftand ) sec®f—secd tand
(3) cosecd 4 cosech cotd 4 cosec?6 —cosec § cot §
14 cosf+ cos? 0 +cos’ 6+ ... tooo =
i T8 T o T ™
Sin — cos — sin 5 Cos 5
i =—2—— @ —— e Wt "
tanzhcosf? cot — — cosf tanz + cosf cotz + cosf
Point of intersection of the lines x+ y=2012 ; x—y=11is

x+y=2012 ; x—y=1 Boo podd HoH
(1) (2012, 1) (2) (1,:2012) (3) (2012, 2011) (4) None & s,

Slope intercept form of the line §+% =1lis

£+-g.:1 wd O SwEy, Tew PoEd BrHdw
a

b b b . .
() po=g %=k @ pemoeil @) pErpERE W) pEpTE

30 Theline y = x+1 passes through the points
y=x+1 od 8 J DovHe Moae Adod ?
(1) (2011, 2012), (2012, 2013) (2) (2009, 2011), (2013, 2015)
(3) (2012, 2011), (2011, 2013) . (4) None (& s=c)
2 3
31 Slope of the line ?"+7y+2012 =0
2x 3y
*3—4’"?4'2012:0 B O._D)S& IOV
4 4 9 9
M 3 @ -3 @ 3 =2
32  Area of the triangle formed by the points (-194, -167), (4, 31), (83, 110) is
(—194, -167), (4, 31), (83, 110) e DothHe Hg S6YBS (Bebe) Frogin
(1) 411 sq. units (411 5.c0rdew) (2) 413 sq. units (411 &, cxrden)
(3) 417 sq. units (417 <5.0600%0) (4) None @b s°cv)
16 16 _ i X 2 1
33 If a—+7_+b+—7—] then line _a+7+b+l] , passes through
16 16 _ 2 o ¥ 1
T b+—7_l @ond a+7+b+” 7 % B @ Doty room FH ?
1 1 1 ]
O oLy ) 4(a+7)" 4(b+11)
4 4
@) mb—m] @ 4,4
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General form of the line y =2x+3 is
y=2x+3 v Op g Frdn Crsaw
(1) y=2x-3 ) y=3x-2 (3) 2x—y+3=0 (4) None (b =)
Intercepts made by the line y = 5x—1 on the coordinate axes are
AWrFrgop y=>5x—1 v dp Soh o8 powen
1

Area of the triangle formed by the line -}4-% =1 with the coordinate axes is

AsrFos® %4—%:1 © B I6)6D (Bebesion A0S rrogin
(1) 28 sq.units (28 5. atrden) (2) 14 sq. units (14 <5. axrdew)
(3) 56 sq.units (56 3. axrdes) (4) None @b s°)

Among the following, two parallel lines are
Bod >IS® DB Bod dSrods Bed) drdknod ?

(1) 2x+2y+13=0, x+2y+11=0 (@) 3x+3y+11=0, x+y+11=0
(B) 3x—2y+1=0, 4x—3y+2=0 (4) None (& o)
Equation of the altitude through (8, 2) of the triangle formed by the points (8, 2), (4, 6), (-1, 5) is
(8, 2), (4, 6), (-1, 5) DochHos® 8BS Bepadns (8, 2) Mom I wowdy dLEGEEN
(1) x=5y—42=0 (2) x+5y+42=0 (3) 5x+y—42=0 @) Sx+y+42=0
The points 4(3,4), B(2,—1),C(—4,3) form a triangle. If D and E are the mid-points of 4B and
AC respectively, then the slope of the line DE is

A(3,4), B(2,-1),C(—4,3) Dochihos’ 6183 Bepesdndss AB Sbotn AC o a‘nqﬁg Hotden
2O D HbBoxny E wowd, DE Bwg), T

2 2 3 3

) 3 @ -3 @ 3 @ -5
40 Median of the numbers %% % ,%, % is

) e i (L

g;‘z— i oPger ERASHD

(1) % (2) % 3) % (4) None Q& s¢)
41  The reciprocal of the arithmetic mean of the reciprocals of the numbers 3 and 5 is

3, 5 & HoggoLH ASTEre wo¥ Hoggoin By D5t dA

1 15

(1) 4 @ 3 @ 7 “4)
42  The sum of 30 observations is 540. Then, their mean is

30 woddwe Bwddn 540 wawd, avdd ik

(1) 34 (2) 81 (3) 18 (4) None (06 s°c)
43 Inadata, an observation with the highest frequency is called

(1) Mean (2) Median (3) Mode (4) None

28 Srodind®, a8 (0] Tigin Ko woFHNH OB ?

(1) wof rcdsd drto  (2) Sodgrsin (3) wdowssn 4) @b sw)
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44 Empirical relationship between mean, median and mode is
(1) Mode + Median = 4 Median — 3 Mean (2) Mode — Median = 2 (Median — Mean)
(3) Mode — Median = 2 (Median + Mean) (4) None
®@0¥ Seded énqjga’nén. ﬁJQSSHé:m hoxy IVTERNY wiuerdE Jowoo
(1) wovssn + ggrein = 4 egrsin —3 eod Adds ik
(2) edrowssan —aderdin = 2 (Reierdin — ©of XS Krk)
(3) axrovisin — dgigrsin = 2 (Hegrdin + wos reddiy Hio)
4) @b se)
r 8 .
A= =
45 [2 l:l = A4
1 4 4 1 4 & '
(1) L ]] (2) [I 4] 3) [1 J (4) None (& %)
46  Which of the following products is commutative ?
& 808 AS* DDA ore D ?
~3 42 1 4 -7 [1 2 o I|fi 0 "
(1) 1 ollo 9 2) 3 5|lo g 3 |1 ollo 1 (4) None (@& s¢%)
¥ 1
47 If A=[1 J and det (4)=8 then x =
x 1
A=L J oo od det (4)=8 ewowd x=
(1) £3 2) +4 (3) +2 (4) None (26 s°)
48  The product of the matrices 4, B and C is associative means
A, B 8oty C &r@8o opin Srsdy organin edss®
(1) 4B=4C (2) A(BC)=(4B)C
(3) A+(B+C)=(4+B)+C (4) None @& =)
49  Calculate the mean for the following data : -
&5 (0B SerodHndh Jftn SRtHod
Class Interval
5543 wosasy | 030 | 50—100 | 100—150 | 150—200 | 200—250 | 250300
Frequency
Driripgn 8 15 32 26 12 7
(1) 145 2) 245 (3) 143 @) 144
50 For the data 99, 100, 101, 102, 103, 104, 105, 106, 107, the value of the mode is
99, 100, 101, 102, 103, 104, 105, 106, 107 Sero$inds erdneshan Jend
(1) 103.25 2) 102.99
(3) 104.3 (4) does not exist )
51 The formula to find arithmetic mean x using the deviation method is
Rofg Jod 968 (deviation method) ogor dritwy SHFDLH drEgdn X =
k k
| 1
1) A+ﬁ Zf,-u,-] & % Ef,—u,- &
1 1
1 (&
@) A+~ |2 fiu(xC (4) None (% s&)
1
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A ABC~APQR.If AB=3.6, PQ=24, PR=54, AC="
(1) 3.6 @) 8.1 () 54 @) 6.8
In the adjacent figure £ 4 = 60°and 4B, AC are tangents. Then OB =?

6 B

1) 6/3cm (2 6cm @ g 4 62 cm
O Sogorr o Hyzrd8 AB, AC 8)8) Spew. £ A=60° wond OB =7 "

6
(1) 643 o (2) 6 o, 3) ﬁ 20, (4) 642 2o

4
In the figure /B is obtuse, then AC* =
/B 8§ Smore o Dgos® 4C2 =

D B c
(1) 48%+4BC*—BD? (2) AB*+BC?
(3) AB®+BC?+2BC.DB (4) AB*+BC*-2BC-DB

ABCD is a trapezium with AB " DC . If AC and BD intersect at E and AAED and ABEC are
similar, then

ABCD % oow $&8yzes® AB H DC, AC &8ow BD e E ¢ poBosossdy AAED, ABEC
JEFS BeLednsS,

(1) 4D=4B (2) AD=BC (3) 4D=DB (4) AD=4C

If AB:YZ = BC:XY = AC : XZ then A ABC is similar to

AB:YZ =BC: XY = AC : XZ won$ ABC (8ebadndd Bod (Behesdin 288 J8rd [Behain. b
() AXYZ Q) AZYX (3) AZXY (4) A ACB

A triangle and a parallelogram each have the same base of 8 cm and area of 40 sq.cm, then their

heights are .
28 Beein, GAmosS SSmyive: B 30 810D, Hhrd Progind0 vod’ 08 o) &

S dHen Jod ?
(1) 8, 4 @) 10,5 (3) 40, 20 @) 6,4

ABC is an isosceles right angled triangle, /C =90° then 4 B2 =
/C=90° m o ABC divagerim @epeins® 4B% =

(1) AC? @) 24C? @) BC? (4) 34C’
Computer science is also called as .

(1) Informatics (2) Physics (3) Chemistry (4) General studies
50@5@5 Sy &)e;avai B @ Deord.

(1) =838;¢8y (2) 88 wiiw (3) Groxs TP (4) derdm g
Meaning of an algorithm

(1) Method of solving the problem (2) Table

(3) Figure (4) Lines

WSTBGo wdm

(1) sogs 0B 938 (2) DAk (3) 2o (4) hsen

~1
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